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7 100kN/m##8x5 | 1.00 | 0.00 ~ 261 140.99 |3mZEBAD| — ~ — — — | 100kN/m#Z#8z25 | .00 | 1058 ~ 2327 140.99 |3mEBZ5 -~ — — —
s 1.00 | 261 ~ 1039 100.00 | FnLst | 0.00 ~ 1039 2.65 14.18 st 1.00 | 6.00 ~ 1058 100.00 | =nLS | 6.00 ~ 2327| 2.65 14.18
2 100kN/m%z#Z5| 100|000 ~ 249 13908 |3m&E#EZB| — ~ — — — | 100kN/miZ#825 | 1.00 | 1053 ~ 2147 139.08 |3m%EEZ5 - ~ — — —
s 1.00 | 249 ~ 1028 100.00 | =nLst | 0.00 ~ 1028 2.70 14.44 st 1.00 | 6.00 ~ 1053 100.00 | =nLSt | 6.00 ~ 2147| 2.70 14.44
3 100kN/m%E#8z5| 1.00 | 000 ~ 142 12163 |3m&E#BzB| — ~ — — — | 100kN/m%#825% | 1.00 | 1086 ~ 1547| 12163 |3mE#BZS - ~ — — —
st 1.00 | 1.42 ~ 9.21 100.00 | #nLst | 0.00 ~ 9.21 | 2.562 13.49 st 1.00 | 6.00 ~ 1086 100.00 | =hLSt | 6.00 ~ 1547| 2.62 13.49
4 100kN/m%E#8z5| 1.00 | 000 ~ 142 121.59 |3m&E#Bz5| — ~ — — — | 100kN/m%#25 | 1.00 | 1073 ~ 1530 121.59 |3m&E#BZ5 -~ — — —
ZhLst 1.00 | 1.42 ~ 9.21 100.00 | #hst | 000 ~ 921|249 13.32 st 1.00 | 6.00 ~ 10.73 100.00 | #nst | 6.00 ~ 1550 2.49 13.32
5 100kN/m%E#8z5| 1.00 | 000 ~ 1.09| 11637 |3m&E#BzZB| — ~ — — — | 100kN/m%#825% | .00 | 11.12 ~ 1526 116.37 |3mEEBZ3 -~ — — —
s 1.00 | 1.09 ~ 887 100.00 | #nlst | 000 ~ 887|221 11.83 Thst 1.00 | 6.00 ~ 1112 100.00 | =hst | .00 ~ 1526 2.21 11.83
p 100kN/m%E#8z5| 1.00 | 000 ~ 078 11166 |3m&E#Bz5| — ~ — — — | 100kN/m%#825% | 1.00 | 1087 ~ 1313| 11166 |3mE#BZS - ~ — — —
s 1.00 078 ~ 857 100.00 | #nLSt | 0.00 ~ 8567|232 12.43 st 1.00 | 6.00 ~ 1087 100.00 | #nLst | 6.00 ~ 1313) 2.32 12.43
7 100kN/m%E#8z5| 1.00 | 000 ~ 108| 11630 |3mE#BzZB| — ~ — — — | 100kN/miZ#825 | .00 | 1096 ~ 1428 116.30 |3m%EEZ5 - ~ — — —
Thilst 100|108 ~ 887| 100.00| FhLs | 000 ~ 887| 2.54 12.62 ThLst 100 500 ~ 1096 100.00| FnLS | 5,00 ~ 1428 2.34 12.52
P 100kN/mMZ#8Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ S - ~ — — —
Thilst 1.00 | 000 ~ 769 98,60 | =hs | 000 ~ 769|235 12.58 ZnLst 1.00| 5.00 ~ 1077 98.60 | =hst | 5,00 ~ 1077| 2.35 12.58
9 100kN/MZ#8Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ 5 - ~ — — —
FhLst 1.00 | 0.00 ~ 4.55 56.80 | =nst | 000 ~ 4.55| 1.90 10.15 ZhLst 1.00 | 6.00 ~ 56.00 56.80 | #nLs | 5,00 ~ 6.00| 1.90 10.15
100kN/ M%#2Z % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERBZD ~
zhsn ~ ZznLst ~ znLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thilst ~ TnLst ~ TnLst ~ Zzhust ~
100kN/MZ#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/M%#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zzhust ~




